1986

1988 25,000ha 1989
mm
50
1977 1978 1979 1980 1981

50 5 14 5 12 5 14 5 19 8

5 16 5 14 5 21 5 22 1

50 5 22 5 17 5 2 5 23 18
5 30 5 24 5 24 5 26 24

5
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DATA DATA
1988

DATA

10 DEFDBL AD,S,T

20 K=0:STEM=0

30 INPUT THRESHOLD TEMPERATURE= ;D

40 INPUT DATA = 25 OR 30 B

50 IF K=B THEN 250

60 READ M1,M2

70 K=K+1

80 MX=M1

90 IF MX<=D THEN 50

100 IF M2>=D THEN T=0:GOTO 140

110 A= 2*D M1 M2 [/ M1 M2

120 AS=ATN A/SQR A*A+1

130 T=8*AS/3.1416+4

140 STEM=STEM+ M1+M2 /2 * 8 T + M1 M2 /2 * 8/3.1416 *
COS 3.1416*T/8 3.1416/2 8 T *D

150 IF K=B THEN 250

160 READ M1,M2

170 K=K+1

180 IF M2>=D THEN T=16:GOTO 220

190 A= 2*D MX M2 |/ MX M2

200 AS=ATN A/SQR A*A+1

210 T=16 16*AS/3.1416+8

220 STEM=STEM+ MX+M2 *T/2 MX M2 /2*16/3.1416*
COS T*3.1416/16+3.1416/2 ™D

230 IF M1<=D THEN 50

240 MX=M1:GOTO 100

250 PRINT:PRINT:PRINT:PRINT:STEM=STEM/24

260 IF B=25 THEN H=26.43 .5*STEM ELSE H=27.44 .35*STEM

270 PRINT USING THRESHOLD TEMPERATURE ##.## D
280 PRINT USING SUM OF TEMPERATURES #H##H#H#  STEM
290 PRINT USING 50% +#i# H

300 END

310 DATA 5.7, 4.5,7,0,8.4,0.1,6.5, 2.8,7.1, 3.1
320 DATA 25,0.7,2.7, 2.2,4.4, 3.2,6.9, 4.2,9.2, 09
330 DATA 12.6, 0.1,12.1,5.7,11.7,2.5,14,0.5,7.2, 0.5
340 DATA 9.2,2.1,15.4,2,18.9,3.9,11.9,5.6,9.1,3.3

350 DATA 7.1,3.3,7.5,3.2,5.8,0.3,4.3,0.4,9.7,1



RUN “ THRESHOLD

TEMPERATURE K
5 5 5 RETURN
“ DATA 25 OR 30 25
30 25
THRESHOLD TEMPERATURE 5.00
SUM OF TEMPERATURES 37.04
50 5
5 5
37
* THRESHOLD TEMPERATURE ? DATA 25

OR 30



